Engine and Turbo System

Component Manufacturer Model

Turbochargers Tial K16 Billet 68mm Turbos

Turbo Intake Plenum 911 Tuning Intake Plenum with Flex Tubing
Intercoolers Wagner Tuning Evo 1 - 200001020

Diverter Valves Forge Motorsport Billet

F-Pipe Forge Motorsport Silicone

Exhaust Europipe 996TT

Turbo Inlet Adapters

Exigent Engineering

50.050.01 - Anodized Aluminum

Turbo Inlet Clamps

Exigent Engineering

50.050.03 - 3D Printed SLS Nylon

Engine Electrical
Component Manufacturer Model
Cobb Accessport Cobb Tuning Accessport V3
Fuel Injectors Injector Dynamics ID1000
Drivetrain

Component Manufacturer Model
Clutch Sachs Stage 2.5
Shifter Porsche 997-424-983-00

Suspension and Steering
Component Manufacturer Model
Coilovers Ohlins POZ-MNO2 (Road & Track)
Front Strut Mounts JRZ 95-40-01-06

Front Spring Perches Exigent Engineering [10.050.31 x 2
Rear Shock Mounts Rennline S26
Rear Spring Perches Exigent Engineering [10.050.32 x 2

Front Anti-Roll Bar Link

Porsche

996-343-073-05 x 2 (Link)

Rear Anti-Roll Bar Link Porsche 996-333-069-04 x 2 (Link)
Front Hubs Porsche 997-341-605-01 x 2
Rear Hubs Porsche 997-331-605-00 x 2

Hub Refinishing

Exigent Engineering

Zinc-Nickel per AMS2417

Front Wheel Bearings

Porsche

9P1-407-621 x 2

Rear Wheel Bearings Porsche 999-053-055-02 x 2

Front Control Arms Porsche 997-331-041/042-95

(Porsche 997 Cup) Porsche 997-341-161-90 x 2 (Outer Arm)
Porsche 997-331-441-9B x 2 (Inner Bearing)
Porsche 996-341-551-93 x 4 (Inner Spacer)
Porsche 999-025-269-02 x 4 (Thick Washer)
Porsche 900-076-064-02 x 4 (M8 Nut)
Porsche 996-341-543-90 x 1 (Lmm Shim)
Porsche 996-341-543-30 x 1 (Litronic Shim)
ERP 996-003 (Thrust Bushings)




Rear Control Arms

Porsche

997-331-041/042-99

(Porsche 997 RSR) Porsche 997-341-161-9D x 2 (Outer Arm)
Porsche 997-341-413-9H x 2 (Journal Pin)
Porsche 997-341-315-9B x 2 (Pin Screw)
Porsche 997-331-441-9B x 2 (Inner Bearing)
Porsche 996-341-551-93 x 4 (Inner Spacer)
Porsche 997-341-244-9A x 4 (Thrust Bushing)
Porsche 999-025-269-02 x 4 (Thick Washer)
Porsche 900-076-064-02 x 4 (M8 Nut)
Porsche 900-623-001-00 x 2 (M5 Screw)
Porsche 900-817-005-02 x 2 (M5 Nut)
Porsche 996-341-535-91 x 4 (2mm Shim)
Porsche 996-341-543-90 x 2 (Lmm Shim)
Camber Shims RSS RSS-308
Rear Toe-Control Arms Pro-Series Fab Toe-Control Arms and Bushings
Porsche 997-347-233-9C x 2 (Outer Pin)
Porsche 999-084-014-01 x 2 (Nut)
Porsche 997-347-235-9B x 2 (Spacer)
NMB ARTL10E x 2 (LH Rod End)
NMB ART10E x 2 (RH Rod End)
Pegasus 3068-M14 x 2 (M14 Rod End Washer)
Exigent Engineering [10.050.15 x 2 (Reducer Bushing)
Rear Upper Control Arms AFCO Racing Aluminum Tie-Rod Tube 7" - 58007
NMB ARTL10E x 4 (LH Rod End)
NMB ART10E x 4 (RH Rod End)
QA1 5/8"-18 LH Jam Nut x 4
QA1 5/8"-18 RH Jam Nut x 4
Exigent Engineering [10.050.21 x 16 (Reducer Bushing)
Rod End Boots FK Rod Ends RERS3
Eccentric Lock Plates Tarett LKPLTO1
Rennline S40
Suspension Hardware Porsche
Corner Balance and Alignment |Emotion Engineering
Brakes
Component Manufacturer Model
Front Calipers and Pads Brembo 991-351-425-34 (LH Caliper)
991-351-426-34 (RH Caliper)
991-351-948-02 (Pad Set)
991-609-181-00 x 2 (Wear Sensor)
Rear Calipers and Pads Brembo 991-352-425-32 (LH Caliper)
991-352-426-32 (RH Caliper)
991-352-948-03 (Pad Set)
991-609-183-00 x 2 (Wear Sensor)
Front Wear Sensor Porsche 997-612-770-00
Rear Wear Sensor Porsche 997-612-676-01




Front Disc Assemblies Brembo 103.8006A

Rear Disc Assemblies Brembo 203.8004A

Front Brake Lines Goodridge Custom

Rear Brake Lines Goodridge Custom

Front Caliper Bolts Porsche 999-067-053-09 x 4
Rear Caliper Bolts Porsche 999-067-040-01 x 4
Left Front Air Guide Porsche 997-341-483-92
Right Front Air Guide Porsche 997-341-484-92

Wheels and Tires

Component Manufacturer Model

Wheels BBS CH-R - 19x8.5 ET51, 19x11 ET56
Tires Michelin PS4S - 255/35-19, 305/30-19

Lug Bolts Bimecc Standard Length, Black

Rear Wheel Spacers ECS Tuning 15mm with Lug Bolts

Body and Styling

Component Manufacturer Model
Wing Blade Precision Porsche Strosek Style
Rear Bumperettes Porsche Painted
GT2 Left Front Fender Liner Porsche 996-504-123-90
GT2 Right Front Fender Liner Porsche 996-504-124-90
Miscellaneous Hardware Porsche
Interior
Component Manufacturer Model
Windshield Sunscreen Porsche PNA-505-996
Steering Wheel DCTMS T96 Black Leather, Black Stitching
Shift Knob Porsche 997-424-075-01-FOT




